	1.
	A relation contains the ordered pairs (3, 8), (6, 10), (9, 12), and (a, b). For which values of a and b is the relation a function?

	

	 
		A.
	a = 3 and b = 14




	
	

	 
		B.
	a = 6 and b = 12




	
	

	 
		C.
	a = 9 and b = 9




	
	

	 
		D.
	a = 11 and b = 8




	
	

	 
	 



	2.
	Which relation below is a function?

	

	 
		A.
		 x 
	 y 

	0
	 –2

	1
	 –3

	0
	 –4

	2
	 –5 







	
	

	 
		B.
		 x 
	 y 

	0
	 2

	1
	 3

	0
	 4

	2
	 5 







	
	

	 
		C.
		 x 
	 y 

	0
	 0

	1
	 1

	0
	 8

	2
	 27 







	
	

	 
		D.
		 x 
	 y 

	0
	 0

	1
	–4

	2
	 8

	3
	 4 







	
	

	 
	 



	3.
	The graph below displays a relation between x and y.


[image: /files/assess_files/9a24346a-14e2-4a59-8c76-2fa8f41aac22/169184.jpg]
This relation does NOT define y as a function of x because

	

	 
		A.
	the relation is not linear.




	
	

	 
		B.
	points (2, 2) and (3, 2) have the same y-value.




	
	

	 
		C.
	points (3, 2) and (3, 3) have the same x-value.




	
	

	 
		D.
	several points have equal x- and y-values.




	
	

	 
	 



	4.
	In which set of ordered pairs, (x, y), is y NOT a function of x?

	

	 
		A.
	[image: /files/assess_files/ebc40fe0-70a1-4d5f-84df-ed37a71dcf54/54c12b1a-6037-4203-9403-ddd1d86d3ef2.png]




	
	

	 
		B.
	[image: /files/assess_files/f187381f-82a3-4b5e-a47b-75b1ffb1a741/f0eb5437-b61d-4638-a2ad-11431ab0aef0.png]




	
	

	 
		C.
	[image: /files/assess_files/83ab28e5-b803-45c9-bbe8-771b6d02fec4/af055325-8820-4e16-96e8-558b60cc6f84.png]




	
	

	 
		D.
	[image: /files/assess_files/ec32106b-b356-484f-8f04-33483083ec10/26840c00-eec5-4564-a134-86f7a0a6c137.png]




	
	

	 
	 



	5.
	In which set of ordered pairs, [image: /files/assess_files/76ddc957-0c23-4c02-a339-f1c9fe387a89/ad078253-e689-4673-bd1e-10c4ea3f0617.png], is yNOT a function of x? 

	

	 
		A.
	[image: /files/assess_files/42eeff3a-2e44-4cd4-a33a-c5c096f839d7/156d1d50-af1c-412b-a545-69157824bc16.png]




	
	

	 
		B.
	[image: /files/assess_files/0794135d-6621-4461-a82b-5f76373cf9aa/abd90d09-f2d4-4071-a8ae-07137da93b26.png]




	
	

	 
		C.
	[image: /files/assess_files/3d281df8-7433-462b-8377-2084ad131445/3645659e-926f-45d9-b1a8-85972f3ed5b8.png]




	
	

	 
		D.
	[image: /files/assess_files/155905a9-8c66-4167-ab22-cef37f95922d/093b7d0d-9208-4680-a104-8dbd58c8e422.png]




	
	

	 
	 



	6.
	The ordered pairs [image: /files/assess_files/3c868e3d-a5ad-446f-8335-d8a58d67cc62/24d9c502-c416-438d-8a4a-07e11fabc04a.png] define the relation Q. 


[image: /files/assess_files/3c868e3d-a5ad-446f-8335-d8a58d67cc62/95df5045-c360-4d66-928f-7acb5ee917cb.png]
Is Q a function?

	

	 
		A.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		B.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	7.
	In which set of ordered pairs, (x, y), is yNOT a function of x?

	

	 
		A.
	[image: /files/assess_files/fa534c38-1a8e-474b-8259-9bdc2bf86372/7dce3178-2cea-4f9d-a0de-8ae658860f80.png]




	
	

	 
		B.
	[image: /files/assess_files/4cb312fd-a666-4024-9a2d-f5c1f0f56917/51896ce6-633f-43f8-8568-8236e283d461.png]




	
	

	 
		C.
	[image: /files/assess_files/bd26602e-750f-4cef-93bf-22c325474b9f/61cfac5d-af1d-4016-bda7-44c2aa5f7ed5.png]




	
	

	 
		D.
	[image: /files/assess_files/b45dc15f-471e-4e3b-bee6-e53264651c03/c7ef469c-32ee-4613-acc0-01314510a2d4.png]




	
	

	 
	 



	8.
	Which relation of x and y is a function?

	

	 
		A.
		 x
	y

	0
	–2

	1
	–3

	0
	–4

	2
	–5







	
	

	 
		B.
		x
	y

	0
	2

	1
	3

	0
	4

	2
	5







	
	

	 
		C.
		x
	y

	0
	0

	1
	1

	0
	8

	2
	27







	
	

	 
		D.
		 x
	y

	0
	 0

	1
	–4

	3
	 2

	2
	 4







	
	

	 
	 



	9.
	The following ordered pairs (x, y) define the relation Q. Is Q a function?


[image: /files/assess_files/f85f8a9a-63e3-4025-a0d6-9a60035c51f7/e5eb9f1d-87c9-4a19-b62e-9b76f29e76c4.png]

	

	 
		A.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		B.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	10.
	The following ordered pairs [image: /files/assess_files/b8165622-8082-466d-8062-6e744677956e/0ae895ae-cf55-4acf-ac2e-87aafde4ed9d.png] define the relation Q. Is Q a function?


[image: /files/assess_files/b8165622-8082-466d-8062-6e744677956e/633ba593-718d-4d56-81f5-d7ec3d447ea4.png]

	

	 
		A.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		B.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	11.
	Which ordered pair [image: /files/assess_files/1ac9454a-f341-405d-bc18-588bd0999b79/47c77f0e-8532-4e85-bbc6-13e79123e3bf.png] makes the relation a function?


[image: /files/assess_files/1ac9454a-f341-405d-bc18-588bd0999b79/56fd892a-74ba-4b65-ab72-34af9eab68b4.png]

	

	 
		A.
	[image: /files/assess_files/72f35f2a-7b9b-4445-a085-d02100fe88ef/fcec299c-47e6-4bc6-b619-708c001215f0.png]




	
	

	 
		B.
	[image: /files/assess_files/159a8fee-d915-497a-8856-c8e7c3c308ed/bf8f0964-63f2-4d84-b173-ed342199dbea.png]




	
	

	 
		C.
	[image: /files/assess_files/0c177346-deef-4684-b45b-8a320b582d9a/d1dcecba-d16b-40b8-91e5-aefeabad91cf.png]




	
	

	 
		D.
	[image: /files/assess_files/dc5290c3-b1d8-4e4f-979a-2a695793f5c0/8cd9ac30-3ff0-4d04-8ce9-0c2de1131f8e.png]




	
	

	 
	 



	12.
	Which ordered pair (x, y) makes the relation below a function?


[image: /files/assess_files/ff489c43-5032-492b-ab95-65461c7826b1/184eec39-46ab-4a15-9be6-b150d5272caa.png]

	

	 
		A.
	[image: /files/assess_files/c7b59245-1901-4fd3-990d-06ec787f0077/49da3522-e741-4723-ab46-492552b0d5ef.png]




	
	

	 
		B.
	[image: /files/assess_files/b7995715-6616-46b7-a909-4e53ab8fe469/58b7c641-f54d-432e-b7a4-2fbce4ca6d23.png]




	
	

	 
		C.
	[image: /files/assess_files/e416b527-b15c-4c2d-b434-755912f51152/61f62465-2747-4e64-9f7c-82a006007af8.png]




	
	

	 
		D.
	[image: /files/assess_files/933f8fc1-bbb1-4775-af88-5ba6fe73054d/710615f5-6b3e-4196-bf55-addf367114d2.png]




	
	

	 
	 



	13.
	The following ordered pairs [image: /files/assess_files/55ad6d95-8df1-4ce1-a122-85e75ebcc051/447363da-0686-4976-9635-993061c5af9f.png] define the relation Q.


[image: /files/assess_files/55ad6d95-8df1-4ce1-a122-85e75ebcc051/bff1732a-1a57-42d8-be53-503ce0ddb766.png]
Which sentence tells whether Q is a function and explains why or why not?

	

	 
		A.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		B.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		C.
	No, because there is more than one y-value for some x-values.




	
	

	 
		D.
	No, because there is more than one x-value for some y-values.




	
	

	 
	 



	14.
	Which relation below is NOT a function?

	

	 
		A.
	[image: /files/assess_files/9a24346a-14e2-4a59-8c76-2fa8f41aac22/169176.jpg]




	
	

	 
		B.
	[image: /files/assess_files/9a24346a-14e2-4a59-8c76-2fa8f41aac22/169177.jpg]




	
	

	 
		C.
	[image: /files/assess_files/9a24346a-14e2-4a59-8c76-2fa8f41aac22/169178.jpg]




	
	

	 
		D.
	[image: /files/assess_files/9a24346a-14e2-4a59-8c76-2fa8f41aac22/169179.jpg]




	
	

	 
	 



	15.
	Which ordered pair (x, y) makes the relation below a function?


[image: /files/assess_files/e11525a0-e750-4a94-808f-f57c36e10ab3/e80316c6-590e-4670-9c5f-13bd0d797873.png]

	

	 
		A.
	[image: /files/assess_files/a8c5aefe-5201-47f4-8d36-f6b86cf27c1d/dd2f8ed5-7489-4b8a-83aa-2b923255b428.png]




	
	

	 
		B.
	[image: /files/assess_files/fb217f1d-9d62-4988-ba05-5c65e25dab6a/9bd02f08-40e5-4434-b269-6568777f9cb8.png]




	
	

	 
		C.
	[image: /files/assess_files/cc075b59-0529-4897-999a-ebc95031c3ed/438bc29e-a9f5-4737-9db0-e14422893f7e.png]




	
	

	 
		D.
	[image: /files/assess_files/5e9bb7ca-d03b-430e-90e0-daf040596853/a2361250-aea9-4a88-a488-a4cc8551d349.png]




	
	

	 
	 



	16.
	The ordered pairs [image: /files/assess_files/7a74e763-3f31-41f3-917e-6d9d5da8c87f/f00d742a-f616-4e94-83d9-f938d852a751.png] define the relation Q. Is Q a function?


[image: /files/assess_files/7a74e763-3f31-41f3-917e-6d9d5da8c87f/4276b91a-7165-45da-8cfc-2e0d7a376f69.png]

	

	 
		A.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		B.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	17.
	Which ordered pair [image: /files/assess_files/33cbdbba-8c52-4943-8aad-f5f6753144b3/eb29bace-f472-420b-876c-7d382a4c6ee3.png] makes this relation a function?


[image: /files/assess_files/33cbdbba-8c52-4943-8aad-f5f6753144b3/a522f6b5-c386-4a50-8775-6151678c30b9.png]

	

	 
		A.
	[image: /files/assess_files/86c4e37f-d1a4-420b-8329-e38acb4324f7/aac4b4c6-1350-46cb-84fd-84949ae966df.png]




	
	

	 
		B.
	[image: /files/assess_files/dbe6a006-13c3-421c-afa0-f7c920dcdf33/e0f23960-4a9c-42d6-a4fc-7be023787471.png]




	
	

	 
		C.
	[image: /files/assess_files/6e980744-5686-4eaa-b214-72d8971ab092/671fa4d3-ebe8-455a-987d-bf1b1629e7ef.png]




	
	

	 
		D.
	[image: /files/assess_files/913d2dd3-973b-4c88-8109-c2c17a97bcba/43c5bef2-ddac-4bf7-a648-8ae675f1136e.png]




	
	

	 
	 



	18.
	Which ordered pair [image: /files/assess_files/ac2eaf1e-96ad-415d-9c4b-796c159424f6/e90da2dc-a0be-4209-a407-e32096196069.png] makes this relation a function?


[image: /files/assess_files/ac2eaf1e-96ad-415d-9c4b-796c159424f6/cd327860-d5c5-4abf-9155-5edc26becc12.png]

	

	 
		A.
	[image: /files/assess_files/7f23a8f4-24c1-46ff-9c04-60a03513e002/7e78dc72-5b47-4034-be14-5f2f169c86dd.png]




	
	

	 
		B.
	[image: /files/assess_files/5b413fe6-f349-457a-9170-0f5a429edde7/216f79a8-16fc-4331-ba69-12c0c86c216f.png]




	
	

	 
		C.
	[image: /files/assess_files/161142d8-3928-4766-8b7a-68172123ded1/da63d72c-935b-4c0f-b413-769bad0893bc.png]




	
	

	 
		D.
	[image: /files/assess_files/eb2638bd-802c-4d19-8e5e-859010023b19/58ceb1ca-9855-4209-a445-c44566cf99f5.png]




	
	

	 
	 



	19.
	Which of the following sets of ordered pairs is a function?

	

	 
		A.
	[image: /files/assess_files/1540e338-1ab5-448a-ad32-78c21d537fac/3fda5f31-c691-497a-ae3b-be550389f4f4.png]




	
	

	 
		B.
	[image: /files/assess_files/d239d755-103d-49cc-9cd0-22f8e26b1ad9/2697fdec-7076-46f8-a4cf-74f88e0c61c6.png]




	
	

	 
		C.
	[image: /files/assess_files/f39a1681-1557-438c-9d0f-9890add10c0a/a8debbde-cff8-40ad-9801-95216c92b605.png]




	
	

	 
		D.
	[image: /files/assess_files/52f29eef-1550-4e99-bc17-fd30243f78ce/9c710555-cc41-4eb7-93cc-750b7d0545d8.png]




	
	

	 
	 



	20.
	The following ordered pairs (x, y) define the relation Q. Is Q a function?


[image: /files/assess_files/dce2cfc0-a66e-4f5d-b5af-67337d54cb69/b04e9d55-0764-4d15-b9af-7d4bbbd9c022.png]

	

	 
		A.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		B.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	21.
	Which relation is a function?

	

	 
		A.
		x
	y

	0
	–3

	1
	–4

	0
	–5

	2
	–6







	
	

	 
		B.
		x
	y

	0
	3

	1
	4

	0
	5

	2
	6







	
	

	 
		C.
		x
	y

	0
	 0

	1
	 1

	0
	 8

	2
	27







	
	

	 
		D.
		x
	y

	0
	 0

	1
	 5

	4
	 5

	2
	–5







	
	

	 
	 



	22.
	The following ordered pairs [image: /files/assess_files/ee545d3b-7fb3-4510-bf88-8b1684aca5e1/727b1b83-3616-4bdd-9b7f-74882619dc0b.png] define the relation Q. 


[image: /files/assess_files/ee545d3b-7fb3-4510-bf88-8b1684aca5e1/6dc73818-7c3c-4120-ba4f-4c1c42f5cf21.png]
Is Q a function?

	

	 
		A.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		B.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	23.
	Which ordered pair (x, y) could NOT be substituted in the relation below so that the relation is a function?


[image: /files/assess_files/a4bbae2c-6277-4e92-89a5-a199a94c0de1/92b3c6a1-a4f2-4af8-ae84-c17c44ddc3bd.png]

	

	 
		A.
	[image: /files/assess_files/5e53616b-03cd-4784-b80f-d62829685080/a07053bc-fb58-4982-8ad3-a32dcf70823f.png]




	
	

	 
		B.
	[image: /files/assess_files/54f24f99-8521-4ed7-8a05-ba066339c78d/55d9718f-9018-4db5-a4c0-0cf18583a412.png]




	
	

	 
		C.
	[image: /files/assess_files/e9cc97e1-89dc-45a3-b774-e6f40569cf17/0069cbca-c191-4d61-952b-716dde9a75fc.png]




	
	

	 
		D.
	[image: /files/assess_files/a792ca18-1a71-4a45-8e19-3e1ac490177b/04fdd6e9-0a05-4f2a-9d9f-c1c2eeaf6fb0.png]




	
	

	 
	 



	24.
	The following ordered pairs (x, y) define the relation Q. Is Q a function? 


[image: /files/assess_files/6b338e79-ec36-4ccd-94ae-153355eb7fea/42834fca-8305-45da-a985-c5490797ffac.png]

	

	 
		A.
	Yes, because there is exactly one x-value for every y-value.




	
	

	 
		B.
	Yes, because there is exactly one y-value for every x-value.




	
	

	 
		C.
	No, because there is more than one x-value for some y-values.




	
	

	 
		D.
	No, because there is more than one y-value for every x-value.




	
	

	 
	 



	25.
	Which ordered pair (x, y) could be substituted in the relation so that the relation is a function?


[image: /files/assess_files/2087e1f7-17db-4d3a-a5d4-8414abafa784/918aa8ba-0a2b-4537-854e-5d24b36e02d8.png]

	

	 
		A.
	[image: /files/assess_files/6c29e295-2230-4dd3-9369-7416801c2cce/b2d285e1-26ff-4618-8dd7-c562fb8851cb.png]




	
	

	 
		B.
	[image: /files/assess_files/929a243e-d550-4002-9825-8dbbc84a5f3c/7c2ac28c-c22f-4720-973b-4eef2498d977.png]




	
	

	 
		C.
	[image: /files/assess_files/718ede16-f024-4971-82ef-a81e99d9df20/48e07a17-6439-45cc-9dbd-995ec0cee04b.png]




	
	

	 
		D.
	[image: /files/assess_files/824e7968-2e5a-4ac4-9e44-e0e4f4887c5c/38b07d68-bdb4-4d1d-bb22-0e95136d303a.png]




	
	

	 
	 



	26.
	Which of the following does NOT represent a function of x ?

	

	 
		A.
	[image: /files/assess_files/bbdc630e-7eff-4506-ae5c-1d6c78f2afa3/144702.jpg]




	
	

	 
		B.
	[image: /files/assess_files/bbdc630e-7eff-4506-ae5c-1d6c78f2afa3/144705.jpg]




	
	

	 
		C.
	[image: /files/assess_files/bbdc630e-7eff-4506-ae5c-1d6c78f2afa3/144708.jpg]




	
	

	 
		D.
	[image: /files/assess_files/bbdc630e-7eff-4506-ae5c-1d6c78f2afa3/144711.jpg]




	
	

	 
	 



	27.
	Which value of k will allow the following set of ordered pairs to represent a function?


[image: /files/assess_files/9ecb179a-6db1-4035-ab42-9c6df0d52d26/1b63dc1f-0c0b-4ceb-b491-5d055c13d8ea.png]

	

	 
		A.
	1




	
	

	 
		B.
	2




	
	

	 
		C.
	3




	
	

	 
		D.
	5




	
	

	 
	 



	28.
	Which of the following sets of ordered pairs represents a function?

	

	 
		A.
	[image: /files/assess_files/2d802618-1e19-462d-89db-237cdb7da399/2d5f454d-7145-4063-b22e-691b6ec3e13c.png]




	
	

	 
		B.
	[image: /files/assess_files/2386d7e5-a9d4-4db5-ab3b-c19d6fc4012c/1b968a21-7ad1-47d2-991f-2843bf20a07c.png]




	
	

	 
		C.
	[image: /files/assess_files/a97d33ba-80ad-4472-b219-ca637ba6f93f/7ee2605f-ca7c-49b7-879c-3be86da3f7b0.png]




	
	

	 
		D.
	[image: /files/assess_files/b186970f-a660-4ae0-8c40-3b1f56f57a5b/08dddfb4-7863-4772-b5df-cb5a3392d8fa.png]




	
	

	 
	 



	29.
	Which of the following relations does NOT represent a function of x?

	

	 
		A.
	[image: /files/assess_files/1ad89161-a2b1-438e-991a-4fcd0de68313/144993.jpg]




	
	

	 
		B.
	[image: /files/assess_files/1ad89161-a2b1-438e-991a-4fcd0de68313/144996.jpg]




	
	

	 
		C.
	[image: /files/assess_files/1ad89161-a2b1-438e-991a-4fcd0de68313/144999.jpg]




	
	

	 
		D.
	[image: /files/assess_files/1ad89161-a2b1-438e-991a-4fcd0de68313/145002.jpg]




	
	

	 
	 



	30.
	Which of the following relations is a function?

	

	 
		A.
		 x
	 y

	 1 
	 3 

	 1 
	 4 

	 3 
	 5 

	 5 
	 6 







	
	

	 
		B.
		 x
	 y

	 0 
	 1 

	 2 
	 4 

	 4 
	 4 

	 6 
	 1 







	
	

	 
		C.
		 x
	 y

	 2 
	 3 

	 2 
	 5 

	 2 
	 6 

	 2 
	 8 







	
	

	 
		D.
		 x
	 y

	 3 
	 1 

	 6 
	 2 

	 8 
	 3 

	 8 
	 4 







	
	

	 
	 



	31.
	Which of the following relations is NOT a function?

	

	 
		A.
	[image: /files/assess_files/15886a3d-b872-49d6-ab6f-9b4771c8ae06/366e2f1a-4560-40e3-97b3-b2fa9d872ff6.png]




	
	

	 
		B.
	[image: /files/assess_files/77d6777c-fce1-4d2a-bea3-b8af3b8a9bb9/abd14749-9c36-4080-93aa-26f0bc0f38ad.png]




	
	

	 
		C.
	[image: /files/assess_files/5a7985e0-8df9-4d93-95d3-ac1dc851581b/e89a0a9e-79b4-401b-a053-b62e23f04a66.png]




	
	

	 
		D.
	[image: /files/assess_files/13218d11-2765-47fd-8967-e8e1763d2a18/d59a1162-f99e-4325-a396-63f4463b04d3.png]




	
	

	 
	 



	32.
	Which ordered pair can be substituted for [image: /files/assess_files/2a47243c-92fc-4dfb-8b7b-9fdb81350f3e/fab79334-4fb8-4c0a-8092-b4600e3a6430.png] to ensure that the relation [image: /files/assess_files/2a47243c-92fc-4dfb-8b7b-9fdb81350f3e/8ceca5ce-e85e-44a5-9a73-7364d3e207bd.png] is a function?

	

	 
		A.
	(0, 0)




	
	

	 
		B.
	(1, 5)




	
	

	 
		C.
	(2, 7)




	
	

	 
		D.
	(3, 3)




	
	

	 
	 



	33.
	Which chart represents a function?

	

	 
		A.
	[image: /files/assess_files/f9afec7d-f608-4167-b241-e6878c00a9fc/138826.jpg]




	
	

	 
		B.
	[image: /files/assess_files/f9afec7d-f608-4167-b241-e6878c00a9fc/138827.jpg]




	
	

	 
		C.
	[image: /files/assess_files/f9afec7d-f608-4167-b241-e6878c00a9fc/138828.jpg]




	
	

	 
		D.
	[image: /files/assess_files/f9afec7d-f608-4167-b241-e6878c00a9fc/138829.jpg]




	
	

	 
	 



	34.
	Which of the following charts represents a function?

	

	 
		A.
		 x 
	 y

	 2 
	 3 

	 3 
	4.5 

	 5 
	7.5 

	10 
	15 







	
	

	 
		B.
		 x
	 y

	 –2 
	5 

	–2 
	2 

	 0 
	1 

	 2 
	5 







	
	

	 
		C.
		 x 
	 y

	  1
	 3

	 –1
	–3 

	 1
	–3 

	–1
	 3







	
	

	 
		D.
		 x 
	y

	–2 
	–3 

	–2 
	 1 

	 0
	–1 

	 0 
	 1 







	
	

	 
	 



	35.
	The sets of ordered pairs below represent relations. 


	I
	 {(0, 0), (1, 1), (2, 2), (3, 3), (4, 4)}

	II
	 {(1, 2), (2, 1), (1, 3), (0, 1), (3, 1)}

	III
	 {(0, 2), (1, 2), (2, 4), (3, 4), (3, 6)}

	IV
	 {(1, 6), (2, 6), (3, 6), (4, 6), (5, 6)}




Which of these sets are also functions?

	

	 
		A.
	I only




	
	

	 
		B.
	I and IV




	
	

	 
		C.
	II and III




	
	

	 
		D.
	II, III, and IV




	
	

	 
	 



	36.
	Which ordered pair is a solution to the function[image: /files/assess_files/46172636-ba37-4239-b3b8-a5a4ac5e2a61/image/1b4eea05-14ff-439b-b421-861688d1c0a0.gif]?

	

	 
		A.
	  (− 5, 3)




	
	

	 
		B.
	  (− 4, 3)




	
	

	 
		C.
	  (3, − 5)




	
	

	 
		D.
	  (3, − 4) 




	
	

	 
	 



	37.
	Mary earns $7.25 an hour. She can determine her salary, s, for the number of hours she works, h, by using the equation s = 7.25h. Which statement explains why s is a function of h?

	

	 
		A.
	  For every value of h there is only one value of s.




	
	

	 
		B.
	  For some values of h there is more than one value of s.




	
	

	 
		C.
	  For some values of s there is more than one value of h.




	
	

	 
		D.
	  For every value of s there are two values of h.




	
	

	 
	 



	38.
	A linear function is graphed on the coordinate plane below.
[image: /files/assess_files/0b8be0d1-39ed-45d9-9d27-865588bb315b/image/26790e84-d235-4da6-aee6-7e11a9a13ec7.gif]
 
Which output value is associated with the input value of 4?

	

	 
		A.
	  1




	
	

	 
		B.
	  1.5




	
	

	 
		C.
	  2




	
	

	 
		D.
	  9




	
	

	 
	 



	39.
	The relation shown is not a function.
[image: /files/assess_files/d10779f4-69be-4ccf-9310-ca5dc18cf782/image/c80706b5-a5ea-4d00-b59d-bcfdb614c1c8.gif]
 
Which point should be removed to make the relation a function?

	

	 
		A.
	  Point A




	
	

	 
		B.
	  Point B




	
	

	 
		C.
	  Point C




	
	

	 
		D.
	  Point D




	
	

	 
	 



	40.
	Which relation could also represent a function?

	

	 
		A.
	  {(3, 4), (0, 1), (−1, − 2), (−2, − 1), (0, − 1)} 




	
	

	 
		B.
	  y = x + 3




	
	

	 
		C.
	[image: /files/assess_files/43acee9c-fd1c-4530-8261-d8ee63c9e26a/image/4051ad21-a2d3-43b9-939d-23db34d0b186.gif]




	
	

	 
		D.
	[image: /files/assess_files/12f017f6-39db-4bab-aaa6-7a4efeb277ec/image/0450d06d-1306-4085-9683-e295a1c856ca.gif]




	
	

	 
	 



	41.
	Which of the following relations is a function?

	

	 
		A.
	  {(− 1, − 4), (− 1, 0), (− 1, 5), (− 1, 7), (− 1, 9)}




	
	

	 
		B.
	  {(− 2, − 4), (− 1, 7), (1, − 1), (1, 1), (3, 9)}




	
	

	 
		C.
	  {(− 4, 9), (− 3, 1), (− 2, 3), (− 2, 12), (0, 6)}




	
	

	 
		D.
	  {(0, − 4), (1, − 4), (2, 4), (3, 4), (4, − 4)}




	
	

	 
	 



	42.
	Which table represents a function?


	

	 
		A.
	[image: /files/assess_files/01f45103-e09f-47f4-9b1a-19eebd851db8/images/74392e72-ba84-4ef1-be67-6d4b231b2c9c_a459515.gif]




	
	

	 
		B.
	[image: /files/assess_files/c8065b84-96c0-4f62-b342-4a6472c7215f/images/74392e72-ba84-4ef1-be67-6d4b231b2c9c_a459516.gif]




	
	

	 
		C.
	[image: /files/assess_files/3683d5f2-3a13-4509-86b2-eb5d2153297e/images/74392e72-ba84-4ef1-be67-6d4b231b2c9c_a459181.gif]




	
	

	 
		D.
	[image: /files/assess_files/fdef5c3d-d451-4325-a1f2-9eac65c75f75/images/74392e72-ba84-4ef1-be67-6d4b231b2c9c_a459517.gif]




	
	

	 
	 



	43.
	Which statement is true of table A and table B shown below?
 
[image: /files/assess_files/bef9b0e9-6b87-420a-a8c0-79657f979d6e/images/a91d8917-a5ca-425f-a1b1-9c4f065577b7_a458670.gif]        [image: /files/assess_files/bef9b0e9-6b87-420a-a8c0-79657f979d6e/images/a91d8917-a5ca-425f-a1b1-9c4f065577b7_a458671.gif]


	

	 
		A.
	Table A represents a function because there is only one output for each input value.




	
	

	 
		B.
	Table B represents a function because there is only one output for each input value.





	
	

	 
		C.
	Table A represents a function because there is only one input for each output value.




	
	

	 
		D.
	Table B represents a function because there is only one input for each output value.





	
	

	 
	 



	44.
	Which of the equations shown below represents a function?
 
Equation 1 : [image: /files/assess_files/16c93151-4069-4d9a-a8ae-13a600e20a97/images/ab1b23ef9bec5bb744ebf97f4e8ad6d9.png]

Equation 2 : [image: /files/assess_files/16c93151-4069-4d9a-a8ae-13a600e20a97/images/886656bd8b99e70fc7783c07c1608157.png]



	

	 
		A.
	Only 1





	
	

	 
		B.
	Only 2





	
	

	 
		C.
	Both 1 and 2





	
	

	 
		D.
	Neither 1 nor 2





	
	

	 
	 



	45.
	Which set of ordered pairs does NOT represent a function?



	

	 
		A.
	[image: /files/assess_files/4bd97b1f-de16-4e5a-8602-ae98e08eb91d/images/c012232559ccaf8faf1d2db042e2cff9.png]





	
	

	 
		B.
	[image: /files/assess_files/6b86ae09-0c82-466c-9068-9db4bd509851/images/9797a0a5d3bb749a830541104443a4ce.png]




	
	

	 
		C.
	[image: /files/assess_files/02e8a2b6-208d-41ab-b6d5-6c2d06b8adf3/images/e2d0da2c682ea1f299c517984431845f.png]




	
	

	 
		D.
	[image: /files/assess_files/159aeb35-4f4c-46a8-bb13-101f772c8655/images/f61c19aae464b54f6c885cb7c792196b.png]




	
	

	 
	 



	46.
	Sarah has been keeping track of how many hours she practices basketball each week and thinks that the percentage of free throws she makes during practice improves the more she practices. To check this, she makes a graph comparing the number of hours she practices each week with the percentage of free throws she makes each week. Based on what she learned in her Algebra class, she realizes that her graph represents a function. Which of these could be Sarah’s graph? 



	

	 
		A.
	[image: /files/assess_files/f83803c7-8325-4d99-a3a3-daa0dc33cbfc/images/87821df5-859c-4be0-a5c6-08fb46c6ce86_30059 A1.gif]




	
	

	 
		B.
	[image: /files/assess_files/ef560adf-804a-4013-b836-3fa0e568db24/images/87821df5-859c-4be0-a5c6-08fb46c6ce86_30059 B.gif]




	
	

	 
		C.
	[image: /files/assess_files/eb2b5fe9-b964-4085-a65b-e29e463bad1a/images/87821df5-859c-4be0-a5c6-08fb46c6ce86_30059 C.gif]




	
	

	 
		D.
	[image: /files/assess_files/53d390e9-e5ac-4c9c-9127-24384f1e02fb/images/87821df5-859c-4be0-a5c6-08fb46c6ce86_30059 CA.gif]




	
	

	 
	 



	47.
	Which sets of ordered pairs below describe a function?

I. [image: /files/assess_files/8861cf82-dc1e-495c-9d2c-6e3e932e901e/images/3b8acc06c1d7de26a42da2aed8ca3c7c.png]
 
II. [image: /files/assess_files/8861cf82-dc1e-495c-9d2c-6e3e932e901e/images/5672cbffd91d38e9b486f178c0fcabd7.png]
 
III. [image: /files/assess_files/8861cf82-dc1e-495c-9d2c-6e3e932e901e/images/a9d7c002c3cd798499633552f26992f9.png]
 
IV.  [image: /files/assess_files/8861cf82-dc1e-495c-9d2c-6e3e932e901e/images/e684cdb4124cabfeb2d8a4829bfe7bc6.png]


	

	 
		A.
	I and II




	
	

	 
		B.
	II and III




	
	

	 
		C.
	III and IV




	
	

	 
		D.
	IV and I




	
	

	 
	 



	48.
	Which function would also include the ordered pairs [image: /files/assess_files/b901615d-921c-4140-a349-493f78d48835/images/e094dbd383d2a2333efae926dc824f1a.png] and [image: /files/assess_files/b901615d-921c-4140-a349-493f78d48835/images/35a1c9b359f2f01b8ba4e643741aafe6.png]


	

	 
		A.
	[image: /files/assess_files/71c173c6-d23f-4686-a18a-e6bc601731a0/images/ab6899bf-6fe3-40f3-8957-b100cb5e024b_a357239.gif]




	
	

	 
		B.
	[image: /files/assess_files/671e729a-c0e2-46ba-82b0-b7d1914dc566/images/ab6899bf-6fe3-40f3-8957-b100cb5e024b_a357240.gif]




	
	

	 
		C.
	[image: /files/assess_files/ce042bdd-3a36-4f2e-8ef9-d92a4f0768af/images/ab6899bf-6fe3-40f3-8957-b100cb5e024b_a357241.gif]




	
	

	 
		D.
	[image: /files/assess_files/d9423b67-f209-4328-b4f3-5e943535137b/images/ab6899bf-6fe3-40f3-8957-b100cb5e024b_a357242.gif]




	
	

	 
	 



	49.
	Which of the following relations is not a function?


	

	 
		A.
	[image: /files/assess_files/3542f5d6-140d-4e3e-9e27-93615d21ff62/images/05f8cdfd52f8fdee4d6bc27e417e6965.png]




	
	

	 
		B.
	[image: /files/assess_files/76c8b6b8-7498-4c9c-848a-9461f6062b32/images/66c8019a724eb8888792a4e9086930ce.png]




	
	

	 
		C.
	[image: /files/assess_files/703949b7-d71f-4dc2-881e-c866aca07000/images/b133b1397a169e669f4929d8b09f945b.png]




	
	

	 
		D.
	[image: /files/assess_files/12f76911-1f9a-468a-8521-ccf653d156c0/images/a4bd7ad5d5dbb2109508ed836e207f96.png]




	
	

	 
	 



	50.
	Viola graphed the function [image: /files/assess_files/60a144a5-4133-4ff5-ab18-1821afadaede/images/c67ef5321e52499136e0250f970e3379.png] on a coordinate plane. Which statement about this graph is true of all functions?



	

	 
		A.
	It is a linear graph.




	
	

	 
		B.
	It has a positive correlation.




	
	

	 
		C.
	It assigns a specific input to each output.





	
	

	 
		D.
	It assigns a unique output to each input.





	
	

	 
	 



	51.
	Which of these relations is NOT a function?


	

	 
		A.
	[image: /files/assess_files/9ba0e3ae-c9a2-4dd8-b8c5-83b75bb698ca/images/49d2a56ce1b976f7fc5ff63a5fa13b58.png]




	
	

	 
		B.
	[image: /files/assess_files/84c5ed35-3c7c-448b-ba33-f5976a040623/images/646f5925c63fa8432448fdb330791077.png]




	
	

	 
		C.
	[image: /files/assess_files/b5291d2e-a3c8-4aec-a0ac-5db9da349eb3/images/3b3bd94c92e0492c62ad83b30f3b28b6.png]




	
	

	 
		D.
	[image: /files/assess_files/37af8e09-6af8-4042-ad1e-565494121b5f/images/956f9d85d530862dfdcb0385aba23035.png]




	
	

	 
	 



	52.
	The Juice Cafe posted the sign below showing the prices of smoothies of various sizes.
 
[image: /files/assess_files/e892e2ae-41a7-4643-86a0-3e58e997df45/images/27b1dd1d-1741-4363-8a1f-2224abbce2c3_a353209.gif]
 
Which change would make the price of smoothies a function of the size?


	

	 
		A.
	change the smoothie prices so that each interval between prices is $0.50




	
	

	 
		B.
	change the first 12-ounce smoothie to a 10-ounce smoothie so that each smoothie size has only one price




	
	

	 
		C.
	change the price of the 22-ounce smoothie to $4.29 so that each price is assigned to only one smoothie size




	
	

	 
		D.
	change the 22-ounce smoothie to a 24-ounce smoothie so that each interval between smoothie sizes is 4 ounces
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